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pirection (Q. No. 1 — 5} : Study the table and
answer the questions.

Laptop sold by five different stores in different
months.

@R TR | TR, | I
Store | June | July | May | October
I 240 342 234 210
J 230 234 432 242
A | 120)| 338 | 235 234
2 0280 || 348 | 342 178

326 ‘| 456 362 148

1. ST WK Kaﬁt._l;ram =l T e 3R 78
| 3 mgmé%rnqé\uﬁaﬂ ST T E 7

A) 29 : 37 B) 100: 149
C) 25:37 D) 21:37
E) Sfa | A 1S T
I'FEFE‘IFE What is the ratio of the laptop sold by
EIWH store Kand L in June and the laptop sold by
"5 and M in May'?
A) 29:37 - B) 100 : 149
G) 25 - 37 D) 21:37

E) None of the" above

2. e 5 H W L a %l%lWIST 5% @9eTd g0 |
3, ?ﬁﬁfrﬁ‘v'at | g = T R-Gragyd Sei
A HifT |

A) 142

C) 125

E) 3wem # 9 hig 78l
If 37 5% of laptop sold by store Lin June is
defective, then find the non-defective laptop

sold by store L in June.
A) 142
C) 125

B) 175
D) 145

B) 175
D) 145
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BT

. W3 H WK, Laﬁtmméﬁmﬁmeﬁ
3Ed (SFTHIT) &A1 AT HIT |

A) 231 B) 313 !
C) 256 D) 263
E) 3w 4 B 18 T8

Find the average (approx.) number of
laptop sold by stores K, L and M in May.
A) 231 B) 313

C) 256 D) 263

E) None of the above

. s 3R e § =R J gRT &9 77T AUerg
! F&T 7E 3 S H =R Mg 99 U
olueta &1 feraar ufesra 2 7

A) 98.33% B) 66.81%
C) 78.32% D) 69.18%
E) 39d& 4 ¥ i T8

Number of laptop sold by store J in July and
October together is what percent of the laptop
sold by store M in May and June ?

A) 98.33% B) 66.81%

C) 78.32% D) 69.18%

E) None of the above

. R R | E0 S MY e AR, G T
T AU HT 71.42% 2 | reat 7E A Wi [
A e ATt 9T < Tt s |

A) 84 B) 21

C) 86 D) 54

E) Swiea A =18 7

In October total laptop sold by store | is
?;LE 71.42% of total laptop in the shop. Find the
jmih number of unsold laptop in store | in the

month of October.

A) 84 B) 21

C) 86 D) 54

E) None of the above
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A) S B) TwEd ; *
C) T D) & |
E) Sudwad & ¢ |

On 26 December, 2024, which country
T‘Ej 8] successfully tested the firing of the supersonic |
'E'E'g missile UAV-122 from the Bayraktar Akinci
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6. 26%??& 2024&%%;1%,51946@1&313%&1,

8. Freferfiaa i & frr vrez i |

A) IHTIGS B) Hhgm
C) e D) wtam

E) 39da ¥ | w13 T8l

Find the odd word from the following.
A) Bat B) Pigeon
C) Parrot D) Crow

E) None of the above

9. ‘TS el 3% 3fga gas forass gr

drone ? : TeRIRIG 6! 715 ot ?
A) Iran B) Israel | A) =t.3fl. faerh
C) Turkey D) Russia B) JR.Hl. oa
E) None of the above C) w.Sf. TR
| i
._ ! D) TH.@H. €A
7. ‘‘2aciyHe AAT-3 §le97 GaeiRa=T’ J&deh ! E) 3uded # | I3 g
RS CIRIER Il _ z§ The book ‘Economic History of India’ was
published by
A) FEHT =T | A) B. G. Tilak \ Aé%/
B) TH.WH. U9 ; B) R. C. Dutt ﬁg _
;é C) M. G. Ranade /%7(
C) 3 & . D) S.N.Sen
D) TEw T E) None of the above {%‘ /’kg |
E) 3w § ° 13 T8l | - |
10. 1 =1 40 fre &1 1210, w2 2
“Development Planning — the Indian | 2
: A) 12.5 fire B) 20.5 fime
Experience” book was written b
g ) ! Z C) 25 fire D) 15 fime
A) Sukhamoy Chakravarty f E) S7daa 4 & I3 g
B) S.N. Sen | 1251% of 1 hour 40 mins is
) Amatys Cen | A) 12.5 mins B) 20.5 mins
D) Adam Smith f C) 25 mins D) 15 mins
E) None of the above E) None of the above
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WA TH A ANF TR THERF | 13 o7 fdar = % &Y H qHE S 2 |

11.
e 1 S 2 | | A) freres feaw
A) FEETE : ) Tava Tdeq fegam
B) uHfRuETal 2 ) I grard feag
C) wiehad ; ) Hgad U fead
D) TehTcHe JOTTel | _E) 3Iuded § 4 HIg A&
E) 39dad 5 H W15 A8 g 27th September is observed as
i refers to the exist f 5 #A)-Teachidis Cay
o ;:1:1 existence of more than ; B) World Tourism Day
o E"?‘ﬁ one level of Government in the country. C) International Literacy Day

D) United Nations Day

A) Federalism
E) None of the above

B) Secularism
C) Democracy
D) Unitary system

14. ¥Rd R 3aUsg fam she 3« (IBCA) &4

E) None of the above E TSR3 TR AT 7
A) 3 HTE, 2023 B) 5 34, 2023
C) 9 37de, 2023 D) 22 ug, 2023
12. i gl o fefefag 9 9 sia-41 E)?ﬁﬁﬁﬁﬁﬁﬁ%qﬁ

3
AR FHH & 7 When was the International Big Cat
A) 98 T9¢ 9o Alliance (IBCA) launched by India ?
B) SRS € A) 3 March, 2023 B) 5 June, 2023
I C) 9 April, 2023 D) 22 May, 2023
C) 3YUcit 98 E) None of the above
D) ret iz 3 forw A |
E) 397 4 & I3 74 ; 15. WE ¥ 1983 firthe fiva w9 wr@ § feg AW
Which of the following adaptations is ; Bl AT AT 7
c0mmon in desert plants ? f A) ¥ o -
: eSS DI D) ifer&
A) Large flat leaves ; ©) e 3 D 2 T )
B) Bright col ) § <)
C) Shal ke 5%”!!7 India defeated which team in the 1983
D alow roots ; ?',?'??Cncket World Cup final ? ‘
) Thick stems for water storage | A) England B) Weks.t tlndles
E) : C) Australia D) Pakistan
iiiiiii 3 one of the above J E; None of the above
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|
JFq) I B 4 I8



il il Gl il Nl Gl Sl b N iy e R s By s B By B B A s B e
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Direction (Q. No. 16 — 20) : Study the following

information carefully and answer the questions
given below.

The given bar graph shows the quantity of
vegetables (Carrot and Radish ) (in kg) sold in

five different shops.

990
900

810

720
630

540
450|432
360|
270 1
180 [ I
90 =

[ Radish

skl

16. F 3 9= mu weht il 9E A, C 3R D H == 7Y
meft Y aftea qE @ S F A S g e 3R

IS <HT 3T 4 : 53 | FH = T TSR Al
HET T T | -
B) 810 kg

A) 720 kg :
C) 750 kg D) 780 kg
E) Iwe | § Wiz T

A) 720 kg
C) 750 kg
E) Nnne of the above

B) 810 kg
D) 780 kg

The quantity of Radish sold in F is the average
q quantity of Radish sold in A, C and D together
obset and the ratio of the Radish to Carrot sold in F
is 4 : 5. Find the quantity of Carrot sold in F.

JF4 (LT

e e v e e i
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L I R Ao ol i T Bl Tl il i i i P il f Rl L LA PR A RS R s
#

LHH

néammaﬁrnmmﬂt Brraarmqgﬂ

ﬁﬂmaﬂICEﬂ”{DH‘ﬁlmmm 1 g =+
= 1 A 2 | AT aE TS Bl il Fel AT

1 hIT | (TR, et HIT %)
A) 1048 kg B) 1124 kg
C) 1152 kg D) 1096 kg

E) Swied 4 § S8 T
The quantity of Pumpkin sold in A is the
difference between the quantity of Radish

[=] %snld in A and B together and the quantity
W

iof Carrot sold in C and D together. Find the

total quantity of vegetables sold in A (Carrot,
Radish and Pumpkin).
A) 1048 kg
C) 1152 kg

E) None of the above

B) 1124 kg
D) 1086 kg

18. @l gHMAT § TSR AR el i 76T | =0

e o L L

AR T 7 J
A) 608 kg B) 620 kg
C) 612 kg D) 616 kg
E) 3udea # & I8 &

What is the difference between the quantity

of Carrot and Radish in all the shops

together ?
A) 608 kg B) 620 kg
C) 612 kg D) 616 kg

E) None of the above

Skl
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32:35% | F 3t D # 3 78wl 1 e | e
| A) 7 B) 9
C) 5 D) 6

E) 39dad | 9§ 15 T3

C) 112kg D) 104 kg India shares its land boundaries with how

E) 39 # ¥+ 7

many countries ?

A) 7 B) 9
o C) S )i e

The ratio of the total quantity of vegetables ) )

E%ﬁsold in B and Fis 32 : 35. Find the difference
= .

hlll::l

E) None of the above

between the number of vegetables sold in

22. o fateres & g9y o fefaiad o 9@ sH-a1

F and D.
FUTEI R 7

A) 38 EHg % Rt ot W & Yt o S Hekan B

B) T8 Hug % fReht off weT § 9 et Rear o

a
|
|
i
|
|
i
|
|
|
A) 108 kg B) 116 kg |
%
2

E) None of the above ; ehdl g
%
a
|
;
z
|
i
|
%
|
|
|
Z
|
;
:
|
E
a
;

C) 112 kg D) 104 kg

C) sﬁﬁnﬁﬁmﬂﬂﬁwﬁﬁmm Hehdl &
D) 3H hael AAlhaHT H 99 fha1 91 e B

E) SWad & & s T2

20. B 3D W == 7T MR I WET E H §=1 TS
H‘%ﬂﬁﬁ%ﬂmﬂﬂﬁﬁlﬂm%?

A) B?.B% B) 83.9% LElﬁE]Whmh of the following statement is true
3o E-E*"“,. regarding the Money bill ?
C) 89.5% D) 85.6% ] ' .
A) It can be introduced in either House of
E) 39 | | I 78 Parliament

The quantity of Carrot sold in B and D B) It cannot be introduced in either House

- f Parli
together is what percent of the total quantity of Parliament

o C) It can be introduced only in the
of vegetables sold in E ? Rajya Sabha
D) It can be introduced only in the
Lok Sabha

E) None of the above

A) 87.8% B) 83.9%
C) 89.5% D) 85.6%

E) None of the above

JF4 VR T B 6 I8




5 e i LS L s e P s 4 I g B S L A L A S AP P D S LIRS L e u e i B R R S G I LN PSR AR R P LR PR LR L LR LR T LR SR R L T (R0 S R L LR 408 B R L AL L ———— T T L

23. Wd o fowm® &1 LPG Afsa fitr@,a! 26. TEemA % MR frerera # geyi sfier =
V91 TR o | ; v 3, R Frafor o 1 s 3
A) 1990 B) 1995 .

C) 1991 D) 1992 E SITEHehT H G o7 7
E) 39aa ¥ & i gl ; A) 3T
LPG Model of development was introduced in B) TR Wi
India in | C) ﬁgﬂﬂ

A) 1990 B) 1995 .

C) 1991 D) 1992 D) == ’ﬂﬁ |
E) None of the above |_:.Q;': E) 39gad # | HI3 el

1+ The Girnar Rock Inscription of Rudradaman
T‘f%ﬂrefers to Sudarshan Lake, constructed

24, 2025ﬁwﬁmﬁwgwﬁaﬁﬁmﬂnﬁﬁ§, =
e ©s el wen (U % ®9 H T )

" during the reign of which Mauryan ruler ?
A) Ashoka

i wfter 2 7 B) Dasharatha Maurya

A) 135 B) 139 C) Bindusara '

C) 145 D) 140 D) Chandragupta Maurya

E) SwFa # & WX T E) None of the abnue ﬂ %

[+ g How many total Padma Awards were
#En announced in 2025, including a duo case

[=]%:

7. Hﬁﬂﬁmgﬁa%w%aﬁ%éw
¥ e gita F B4 2, T e d Bl ?
S Oy § =21 8, gita SO | B @ |

|

5

|

:

§

§

a

?

:

;

§

4 (counted as one) ? E
A) 135  B) 139 .
C) 145 D) 140 ol
:

:

|

|

3

i

5

|

:

:

|

:

5

E) None of the above

N | I qEd TST DI 8 7
qHg
ST el Sl ¢ |
A) e war C) = 3 S
C) 34T = The age of Amit is same as Sumit because
D) difehd S It they are twins, Richa is younger than Sumit,
E) Wﬁﬂﬁ RS Richa is younger than Jyotsana but elder than

The time gap between the question hau_r
and the agenda of the day is called

A) First hour
B) Zero hour
C) Half an hour
D) Starred question hour

Saurabh, Sumit is younger than Jyotsana.
Who is the eldest among them ?

A) Amit B) Saurabh

C) Richa D) Jyotsana

E) None of the above
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28. &I 3TEYH U ferepmy

T fohy anf g€ e+
A) 1968 B) 1962
C) 1972 D) 1958
E) Sudaa 0 § 31 e
a]t[=] Defence Research and D
ﬁ&ﬂ osssonch evelopment
i Organization (DRDO) wa | ‘
e, e ) was established in
A) 1968 B) 1962
C) 1972 D) 1958

E) None of the above

29. TS H YR H1 751 30 wem R 7

30. HAICT TS Ie SR % fopg T 1 @ 2 2

ERIECRSG I

A) 9ig
B) TwH

C) ASel 3setime]

D) dfteem

E) Sudda f g #Is &

A\

In humanBeings, the posture and balance

of the body is controlled by

A) Pons

B) Cerebrum
C) Medulla oblongat
D) Cerebellum

a

E) None of the above

AY T

HTST (DRDO) Y
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fAaw (9.4, 31 — 35) : AIfCTehT T TEITT L 37 yym

T I Q|
| P 3l Q grr =m srer-arer T g g
g3 (fa=f) + amsh) feuw mu € |

Direction (Q. No. 31 — 35) : Study the table ang
answer the questions.

Total pages (Hindi + English) written by P and Q

in four different months given.

A1

Month P Q
Mﬂjy 240 340
P 320 234
JELI ly 420 280
HITE

August 220 360

;
:
|
|
a
|
a
;
;
5
-
i
- |
;
;
;
;
1
;
;
|
i
;
¥
;
|
a
;
5
;
;
;
;
;
;
:
;
:
i

feramT wfrera 2 2
A) 56% B) 78%
C) 80% D) 70%
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32. 57 ¥ P gN T mTu qsai =kt wferwra Q
dHT H §9H TER 1 fohaa a1fires @

3

TR P DT g8 P TR PN P EN PE TT AN FEPF JT RN R AR LY gl b b L TR LF ST PR S ST PN PP S P FT A0 PR PUPT IR e Muwuqmuuuuuudulﬁl“““w‘

35. Ws # P 3R Q T g1 fore e g5t geai AR
eI # P 3R Q IFT g forg e et IS

A) 36.75% B) 33.3% T SHHS: I F 8 7

C) 48.36% D) 25.96% A) 31:23

E) Swda A & i T '
3 B) 3921

How much more percentage of pages

written by P in June as compared to Q'in ol e

same month ? D) 37:59

A) 36.75% | B) 33.3% E) 39ded A g his T8l

C) 48.36% D) 25.96%

What is respective ratio between the total
" pages written by both P and Q in May and

E) None of the above

33. Tl wdHl 1 P g for@ T gﬁmﬁ 7SS TR 7 " - “the total pages written by both P and Q in

A) 243 B) 360 July ?

. Sl A) 31:23 ﬂ

E) 39 | 9 i3 ol o 94 B8 L
What are the average pages written by P in ‘ 4

all the months together ? C) 29:35

A) 243 B) 360 D) 37:59

C) 256 D) 300

E) None of the above
E) None of the above

36. WRd 1 Yger facsht s+ aftuiy g form 2w d

34. e # Q g fTE T e Tt 1 28.57%

1 T2 | QER oI H fohaH STISH U3 _ﬂaé&ﬂ?

ford T 7 | A) U B) Siveirey]
A) 284 B) 200 C) HicTert D) #ilis™
C) 232 D) 268 E) 3wl 8§ & B Te

E) 39dea 8§ @ g &I

] g | - H
[@128.57% of the total pages written by Q.in ICk g Trst overmeng L Ut Kendra.

& July is in Hindi. How many English pages

was installed in

.“ HE
are written by Q in July ? A) Nepal 2
A) 284 B) 200 ‘ =
C) 232 D) 268 C) Sri Lanka D) Mauritius

E) None of the above E) None of the above
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A %mw%? lsg mﬂqa@,ﬁl@ﬁemﬂ,zmsﬁm
TR : Wﬂﬁaﬁﬁrﬁrﬂnaﬁ,ﬁw%m%nwvﬁ?
S | X i
sk B i
2 :: P, ia C) et '
: D) Tarsee fhen
¥ N e i E) T & 9
What is the symbol aﬁ;bbciated with i -
Parshvanatha. the 23rd :_?Tirthankara 9 i Justin Trudeau, who announcgd nis
A) Bull 5 resignation on 6 January, 2025, served as
B) Lion 5 the Prime Minister of Which country ?
C) Conch : A) Australig
D) Snal{e i B) New Zealand
: C) Canada
E) None of the abuve % D) Uniied Kinadon
Toan E E) None of the above
38. wufﬁaﬁ%rmﬁaqﬁ%mg%m, %
%mw%‘ﬁﬁﬁﬁ@wwtﬁﬁﬁ % 40.%ﬁﬁﬁ?~mwﬁﬁﬁ%a§%-ﬁa
, T T i ey BT AT T /T R 7
A) T <TrrTer ; A) I
B) Wat=e =marem i B) trarers
C) =u =marem ; o e
Sl i - | 0 sm
TS L P
Under Article 129 of tEe Indian Cﬂnstitytinn, E; — Which of the following States faces o
the has been declared as a %_‘l‘fg‘ﬂmust Serious issue of groundwater
Court of Record. L : ""“ﬂver-expluitatinn ?
~A) Gram Nyayalayav % A) Kerala
B) Supreme Court 2 B) Meghalaya
C) High Court 3 C) Punjab
D) District Court D) Odisha
E) None of the above. % E) None of the aboye

umuuuumwuuuuqum uuuu FLF AL Al L
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“BISI IE FHIIF T - Tx i 43, 2%@73%‘65[%1530%31%%
foreer g RFem o -
‘ 5 HHE.Y. 15 &, 9l 31 .9.9. 1 ':é'. !
A) TEH Ty :
) g A) 112 B) 102
B) il TR § 0) 120 D) 84
C) g .
; E) 39a d € i T8
D) sehe wigtr . L ; %
: The product of 2 numbers is 1530 and their
E) S & = 1 i
5 HCF is 15, then their LCM is
gék._l Conditions of Economic ngress”‘— This A) 112 . '
13 WOrk was done hy ; B) 102
A) Adam Smith | xdia D) 84....
B) Colin Clark % E) None of the above
C) Robinhood :
D) Alfred Marshall :
L 44, Tiftess % forer wm Tt Remd
E) None of the above 31 HT A Eﬁ framd & 2 |
| A) T firees bfdia B
42, wﬁmﬁwmmmﬁmmaﬁm&a . B) dwm B
3T AT 7 E B2
e a C) v fes ,f/
A) 1976 :
..... 5
B) 1966 g D) F foreh R
C) 1996 g E) Swde & & @ 7
D) 1986 % .
) : . {ESEIWhich part of the Tripitaka contains the
E) 39& U O HIs =8 fec 3

Consumer Protection Act in India was
passed in the year

R conventional teachings of the Buddha ?

A) Vinaya Pitaka

.qulluuqupudqp'lpl.ﬂl-.l'u|.|'J.'r.|.

A) 1976 B) Dipa Vamsha
B) 1966 C) Abhidhamma Pitaka
C) 1996
. D) Sutta Pitaka
D) 1986

E) None of the above E) None of the above

N
; ; P L 'lf*-w. - o
[———1 L T B T Yok v S "(:.* 1‘4"-.“- '/ )

FiFiFLs li'dill-l"darui.lil.r-kriluq.ﬂrln.f-l.ri.rui

[ RS JV LR LR SN T PR SN N TN I FL ¥ Pl L L4 T
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LR R TP L L LE
i L B L L L L LI L L

JF4 [EIR AL f- B R




iiiiii
iiiiiiiiiiiiiiiiiiiiiiii
L PR L L U s AT P P LB LB A s e L e P s B b e st BB S s

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
llllll

:
i
&
%
i
%
A
&
g

and choose the correct option

10 answer the
A) 840° B) 520° questions that follow -
C) 140° < D) 320°
E) Sudw ¥ ¥ s 7

Advances in Electric Vehicles

How much angular distance will be covered

A FeBal B niRa
.Ju..uuuu-pumudlfﬁlduHMUﬂ
B e R

Electric Vehicles (EVs) have gained POpularity as
ik _ i an alternative t
EE_ by the rninu.t'ef:;hand of a correct clock in a ] vealnd

R period of 2 hquurs 20 minutes ?

A) 840° B) 520°

: greenhouse gas emissions and lower air pollution.
C) 140° D) 320° :

itional gasoline-powered cars.
5 They offer environmenta| I:}enefits, such as reduced

Many countries are investing in Ev Infrastructure,
E) None of'the above

: Including charging stations, to Support the

"4 widespread adoption of electric vehigles.
46, Chunse,the'._;.fgﬂrrect question tag for the

fulic}win% E‘teﬁz_ément.

48. Why are countries investing in EV
The winduvys__;are open,

A) aren'tit?
B) isn't they ?
C) isn'tit B

infrastructure ?

A) To replace Public transport
B) To promote air travel
D) aren't they ?

C) To support EV adoption
E) None ufthe above

D) To reduce taxes on fuel

E) None of the above
47. Choose thé}jﬁdirect form of the given
sentence. %

49. Which of the following is a type of EV

infrastructure ?

I said, “The-teacher likes me”.

FIRAE
P

o

e

A) | said that the teacher liked me. A) Petrol pumps
B) I said that the teacher was liking me. B) Gas pipelines
C) | said that the teacher likes me.

C) Charging stations

D) | said that the teacher is liking me. D) Oil rigs

E) None nfthe above

MWumuumqm uuuuu
"

E) None of the above

uﬂduuuﬂ#uudduuwuwu-lwwmuu
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“Eo, Choose the word which

l.l-ﬂ.-i!-.iwl!duiﬁ--rlril|l-l EFLFLF e

LTI P e —

. rsinearest in g 53. TrfeTiad e sfwen i oy e () % = Ea
meaning (synonym) to the given word. i TR ST 7
. 8- 29210
Admire % 4X12/36.108) 324, 7
A) Blame | : A) 520 B) 972
: :
B) Stop ; C) 680 D) 475
C) Curse . % BE) 3w 3 ¥ i |
D) Prai | %
) Praise % iEI -‘What comes in place of question mark (?)
E) None of the above (=]

41N the following number series ?
4,12, 36, 108, 324, ?

A) 520 B) 972

ﬁamﬁ%mw,@%? C) 680 D) 475

A) T B) firg E) None of the above

C) g D) &%t arw

E) Swiw § & =8 ot 54, ﬁ%@aﬁ%ﬁ—%m@nﬁ%w% ?
o 4;": 2l Exercise CYCLONE 2025 is cnr;:iucted A) FIeeR B) AR
Eﬁﬁ‘ﬂg between India and which cmuntrﬁ T C) i D) woforeft

A) Maldives B) Egypt E) ST # & #id

C) Turkey D) Saudl Arabia Which of the following forests are adapted

E) None of the above =

to saline water ?
A) Thorn
C) Mangrove

T

i ey |

52, ﬁﬁmmﬁ%mmwﬁﬂmﬁn

B) Evergreen
D) Deciduous

L e AV AP A Bl AL, N R T VT T TR N,

| E) None of the above

foma ST @ 2 |

A) TieeHiet B) feaiqiHiex

- 55 ﬁm%f@aﬁﬁﬁ-ﬁmmqﬁ%? '

C) uHiex D) 3fiet A} 53 B) 29 3
E) S & & whig e C) 47 D) 57
Which instrument is used to measure E) eqjﬁﬂ ¥ X K T i
potential difference ? , L“f‘ Which among the following is not a prime :
A) Voltmeter B) Gaﬁianometer number ?

C) Ammeter D) Ohmmeter A) 53 B) 29

C) 47 D) 57
E) None of the above

E) None of the above

(= Sl R L L AL L
uummwwdmuuHUWllwwdduquuum’uuuumuuwuuummww AL L L Aol L S AR Pk L B L
HiFiFaFafodaFiFiFaFififay

JF4 |




FapaF R AR BAR LR LR AF L LF L E L hjuuﬂdﬂu:uauuﬂquﬂuu:pui R R R R AR R s napege s
Fuifd
o e
pursr
wpui
uf

AIB,c;aﬂ'{DEIT[%%TTQE"’Fﬁ‘H@E I T 5 |
gaitan 2 3R ;MY & TR

_ ST T g7 39 77 |
B T B den W g 2 |
Direction (Q. No. 56 ‘

L |

AL L A L P L

guuwmu'-ﬂtruilmuﬂw#uﬂuﬂwuw“u-uuuuw

Wﬂaﬁtaméﬁmmﬁmﬁﬁ
AT ¥ 3T 71 Y |

A) 9:8 B) 5:3

) 27 D) 1:4

E) SF # 4 g 7

Find the ratio of the tota number
pens sold by shop A to the to

of fountain pens sold b
together.

A) 9:8
C) e p
E) None of the above

of ball point

tal number
y shops A and B

B) 5:3
D) 1:

S7. TPM AT S Y s Wide 31 Hredy an
S B @ T

Find the difference between the total number

.,..E,ﬁ

a
‘ﬁgﬁ.ﬁand the total number of ball point pens sold

of ball point and fountain Pens sold by shop A

""by shop D.
A) 250
C) 190
E) None of the above

B) 230
D) 340

58. THH A 3kt B 310 S ¢ St U <t et ey
S0 B YR &9 U Siet wide 3 4 5ot ween
1 fohaan ufee ® 2
A) 50%
C) 120%
E) 3ude & & 1S T
The total number of gel

A and B together is wh
total number of ball po

B) 100%
D) 80%

pens sold by shops
at percentage of the
Int pens sold by

shop B ?
A) 50% B) 100%
C) 120% D) 80%

E) None of the above

wumwﬂwwmﬂmwwwuwwﬂuuqu

|
400 %
S o e
: |
300 5
|
200 (.
| A I ]
______________________________________________________ s %
O | | i £ = %
A B C D i
© The number of ball point pens sold :
i The number of gel pens sold"* :
i =9 T S &
# The number of fountain pens.sold
& S T BEE 49 i gE@= 0 E
JF4 | UL ROE A

st e T T

uqmmu-;qum..n“mwwumdw-
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—



.r_,i_ _,..i‘ % 'l"- L} . I'I-i-lku---""F--:..__
& "l

e {000 SIS
59. 1< TP E GRI 3 T st wiide, et afk wrade | 61. WRf sreforren £ g 2
%ﬁﬁwwoﬁwﬁaasma—m‘% A) I
2 3R THm Cam%%rmtﬁm%qﬁqﬁawml B) sy
a
@"‘Eﬁaﬁmﬂ?:sé,?ﬁw}zmaﬁmg C) =R 31k arfrey
W%ﬁtﬁaﬁqﬁ%mm%m% D) wited ai g=m
A) 320 B) 450 5 E) Tﬂ'{iﬂﬂﬁﬂﬁéqﬁ
C) 410 D) 280 5 The backbone of the Indian Economy is
. A) Industry
E quﬁ ; : §
) LR IS g B) Agriculture
lf the total number of ball point, gel and fountain § C) Trade and Commerce
Pens sold by shop E is 33.339, less than | D) Transport and Communication
that of shop C and the ratio of the number i E) None of the above
of fountain pens sold by shop G to shop E |
IS 7 : 5, then find the total number of bal| point ga ’ :
- P 62. ‘A g TR -
and gel pens sold by shop E. 2 e R v 1
A) 320 B) 450 | = AT B) TN
C) 410 D) 290 : C) TS D) Terrq
E) None of the above : E) Suw # ¥ 9 7
a __
B E;:&_;‘Maach’ is a traditional folk theatre form of
H 6. i %E_El?;ﬁ which State ?
60. THM F g == ¢ et A1 F § 40% A :
i _ , A) Madhya Pradesh B) Maharashtra
HISeH ‘ 2 | 3¢ g D g é% T HRA C) Rajasthan D) Guijarat
U T I A F Y I3 48, @ : E) None of the above
Y E
SFM F 810 < 0 3 1 et e w R | %
A) 560 B) 480 3 63 ‘m%ﬁgﬁwﬁa’ﬁmﬁ%@rww% ?
C) 720 D) 600, A) TIRTHTS Tesh
E) ST ¥ ¥ 1S & : B) Tt Tirgel
e | : TF'IT‘EI'{' e
Out of the total number of pens sold by shop F, 3 - C) 5=
- 40% of the pens are fountain paﬁs. If the ratio | D) TSt T
ﬁfﬁf the number of fountain pen sold by shop D 2 E) I o ¥ 9 19
“:Ato shop F is 3 : 4, then find the.total number % Who is known as ‘Grand Old Man of India’ ?
of pens sold by shgp F ..... 3 ‘3 A) Dadabhaf NB.DTD]I
A) 560 B) 480 B) Gopal Krishna G::fkhale
5\ 660 5 C) Bal Gangadhar Tilak
C) 720 } 08 | D) M.G. Ranade
E) None of the above i E) None of the above
e B R B b e "
JFA | IR B 15 B
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64. gﬁﬂﬁ?ﬁqéﬁméﬁméﬁﬂt{*mﬁ
¥ | afEm # e gow wew § 7
A) 4 o B) 2
Cl 1 D) 3

E)Hqéeﬁﬁﬂéﬁéqﬁ

66. BIe e ¥ w9 @ fmferiad § & forg
YT Bt Tl a1 & 7
A) e TR IR AT

Suket has three daughters and each daughter

on

e has a brother. Hnw many male members are
there In the famlly ?

|
;
|
é
E
%’
;
The Chhandogya Upanishad clearly refers
A) 4 B) 2 to which of the following ashramas ?
C) 1 D) 3 3 A) Only Grihastha and Vanaprastha
g -
E) None of the above | B) Only Grihastha and Brahmacharya
a
i
:
:
:
i
a
a
i
3
:
3
E
E
|
|
;

C) Only Brahmacharya and Sannyasa

D) Brahmacharya, Grihastha and
Vanaprastha

E) None of the above

65. 2@mﬁgﬁww%aa?ﬁaﬁar{%a‘r
ﬁgaﬁa;aﬁaﬁuammeh—a%mﬁgaﬁ
%aﬁaqﬁlﬁuwé ?

)05aﬂn
B) 231
C) 20311

67. mﬁﬁﬁﬁ%(ﬂﬁl)ﬁﬁ?ﬂm—ww
YT JeH T & T e siais gae o
IMHA g3 8 7
A) TSR BT
B) Wi ifrey

- C) TN =

-------

D) UNTe Jeuq f
E) 3w #f & #1E 7t

Potential dlﬁerence between twc: polnts ofa i

wire carrying 2 ampere current i IS

0.1 volt. What is the resistance hetween 3 - Whlch International initiative has the Reserve
these points 23 ; T % @Bank of India (RBI) joined to enable
%

instant
s hisd 2

A) 0.50ohm &5 cross-border retail payments ?

k ] LH “A) Project Horizon

) o | B) Project Phoenix
C) 20 ohm £ . | C) Project Dart
D) 0.05 ohm .- _ | D) Project Nexus
E) None of the-above % E) None of the above

LT ER T PP uu'l.luu|mqmuquuuuuuuu\um-umwum““mhﬁ By i
1
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D) g™

E) 39 o ¥ 1 7

The Brahmaputra River i IS called
in Tibet,

A) Dihang

2
%
|
.,, Who among the following received the ;E; o
: Arjun Award (Lifetime) in 2024 for Egﬁ%
Para-Swimming ?
§ A) Devendra Jhajharia
i B) Sharad Kumar
E C) Murlikant Rajaram Petkar
D) Mariyappan Thangavelu
D) Lhasa i ;
%
|
%
|

B) Tsangpo
C) Lohit i

E) None of the above
E) None of the above

e (w8, 71 - 75) : ﬁw%%awﬁmq\@

69. Hﬁm%ﬁmﬁ~aaﬁ%3ﬁwﬁwm ﬁﬁ%wml

L %gﬂnmﬁ% a‘rarrqa?r ﬁ'lam%|

81 F=Tereh 31 o w5 Rk HH 9T HEREq

FI@IT?EH%? 1 STEfE TR o - T stk Y
A) ; B) 11 ﬁ—“@mmmqﬁmwﬁﬁaﬁ%m
1 i T S R | e Rl ¥ e Swten amn e

C) - D) = o =TT 3k gt < o et w e w w5
E) Sudwa 8 4 15 18  Tore S e e 1

If you subtract 1 from a numbe.r. and 3 kit ﬁ T e W_@ AR
_ 2 4 1 L B W T TR TE-wdeE B st =, s
i multlply the result by o you get: E The 5 R I P -
numt;er i ' 1 HERIE T 31 TERT i 390 HAI g | 3k §
A) 2 il by ; e & T | R S e v R | *_
i 1 o8 E ACHIA! A Af-FE T TTEC TUT 3 ) T v
2 g LAt gEd wwiE St | R TR gen g
E) None of the above ; Tt it ar Fm
: |
JF4 VAR B 17 B
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wwwﬁw T, WM AR-Fe | 72 Fa e e @ e Y @ ek

LRI N TG B o ; At 2 7

S 5 N . ng Wg@m{dwwmﬁﬁﬂ'{ﬁﬁ
:Eﬁ"q’f TSR | éﬁﬁ )B’mﬁ‘sﬁTﬁ 308 w94 % forg |
T I8 T g o o il B R S SR
3 A 3 ITEHR A wHay-© T T 3, %ﬂwﬁaﬂ‘aﬁ C) IS 1 & Folte o ST |
“ﬁﬁﬁmﬁqw%wﬁrmvﬁa%mwﬁi )ﬁfﬁaﬁa‘f%magﬁmﬁgﬁmﬁ%
SR T 3 S T w1 ot SR R, o |
e TET L B wwmda e

o e % 73. H-aumﬂaﬂtmmaﬁaa‘rmgm?
TIAE M@ D - wg ] A AT e A

Wﬁﬁﬁiﬁg@mw‘@m% fﬁ»—cmm c'a

B) SW H =g < 3 ST ST Y b o |
BT R, 3EH Tt gom g, wngmﬁuﬁqﬁm C)amﬁissﬁwzﬁam%ﬁaﬁl

3
3
E) 3udw & :
ﬁmwm%w%aﬁﬂnmmmls ) bt
E
5

mﬁﬁﬁsmﬁrcrﬁ-rmg‘s‘% Bﬂ‘mﬁm—m%

74. T FA H=0 e A et v o
TR &1 W R ﬁéwﬁmﬁrmmgaaa?ﬁﬁg T ISt ] 7 ¥ E‘%ﬁﬁ%
1 T FRERTE T R | 3t i g | ' |

VI -HER & 909 mﬁﬁmwr@sﬁami .
maﬁﬂfﬁﬁrﬁmw-ﬂw%ﬁ )

71. ?{Ha@ﬁﬁwﬁfﬁm%%m |
g SEIRES HERIET ST HE w1 yage
N T B SRRy
B) T Iadt I woft @ | A) T 1 T e
C) T Fardt =t 3 w1 G} Brwelmam

: e | C) W, am

D) T TEt I gudl wwl § g : D) TSrehi Tiemres

E) tﬂﬁ?ﬁr 4 ¥ &8 T E% E) Wﬂﬂﬂ 43 EAH EEi|
JFA | (s B 18




FLACTR N5 2 b . T T i) - —— n—
AR AT WA SRS A D hmu R P Py
v L o PN ol

Lt AT T

e cmmata L LN )R R
@Hﬁ%w—;\?&;l TEIR St Ige I8 Wmﬁmﬁlwma@ﬁﬁqﬁm
- ' } %ﬁlﬁm,ﬁﬁﬁaﬁmﬁs@aﬁﬁﬁglﬁ
ﬁq—bﬁﬁmm?}”wmtﬁm ; 1 N o il b

‘ s T | 39 P, Freriom 3 € et 2 |
W:q;;@ Waﬁﬁ ﬁw@ﬁ'amwéﬂﬂﬁ%aﬂ?m@,?
| ' TG Hygemad | 3 P, e 1 @ ) A1
ﬁﬁﬁﬁﬂﬁﬁﬁﬂﬂ@f?ﬁmmmﬁl%wﬁ% L8 3 ZFE:'E%
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W e % A
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' 3 D) R % 1 wemt 0k e =y
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1
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ot & fawerd @ | vt w1 s s onfi R, | E) 3w # ¥ %1

At gl B I S =R | i
mﬁmwmﬁ@%maﬁ?mﬁ% TB'W.IE“’ﬁ@@?ﬁﬁaﬁa@ﬁmﬁ
3T, Wbt firer 3 giteeta 3w o e A - | 372 ToRH TR W TeHT g3 7
aﬁﬂﬁﬁaﬁtﬁﬂmﬁmms_,ﬂqﬁ%wﬁnﬁﬁ;ﬁq% _,@Wﬁgsnaﬁﬁmaﬂq%mﬁ
e 3R 98 el amfi | S A |

s, ‘el e T A St g B | ) e o S s e g
<TElT 31T, S ST 1 O EE T Ve A frer ) C) W& v & freh % 9 ¥ sy foy
T @1 8 | 3T & S TeTl HHIGd | el 1 TR D) St hIg i K TR |
%,ﬂ%@ﬁnﬁﬂwwm|w@ﬁaﬁ§ml E) Swe # & 18 T
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79. éﬁmsﬁ%ﬁﬁsﬁmmmlﬁﬁaﬂtm
ﬁti;a% ol S w7

" A) v

B) T ST @1 E |

C) Hershul S @ € |

.l'l.i'u'lr-\.ru-l.llru'1ﬂ'llll-.l-l.|rl-l-.i'l.-l'll'u!|.}|ruuuu LT ST SV I E L L TR ] ﬂmﬂ#liuﬂﬂﬂﬂﬂuuwu.’“u“m
Ll E T

AP LR R LR R T BT L
L R A P L L L R I A
LR L T P A A L L L AP L AT L AP L L AR
Vil
F
L]
-

4 D) wrearfies fergraor
D) Teeeft St @ § | .
. E R
E) S9gF ¥ | HIE 7 donaiablio
80. Toefl Tq 37k ws i ¥ 5 %aﬁﬁ*ﬁn 85, IR T 3@ W= R, Frefeea v
T o7 ? el ¥eg 1 T4 Hifvu |
y- ﬁ;‘rt wﬁwmsﬁeﬁ ; C) et 0

B) F W A R | L -
k). %ﬁ@smeﬁﬁﬁaﬁml

i
ﬁ
2
i,

2] mﬁwﬁﬁﬁ%%ﬁwml ’
5 C) TSaH D) sitae
b T e T3
81. IUHKR ! HY Tt = G ¥ | | R)Eqﬁzﬁt I3 TaI
: asilya Geet is a regional sonq of which
A) TF=R B) 34'3“ : State ? :
C) shast ‘ D) m ‘ A) Uttar Pradesh B) Jharkhand
E) Sudsm & @ i 7] a C) Rajasthan D) Chhattisgarh
¥ g E) None of the above
82. ‘¥t 99’ Hﬁﬁﬁ%ﬁﬁwaﬁq%? ‘ OkiC
A) SE¥IE THTE | 87. ‘BiaE =T’ B o Reedy =0 SRR <
B) =mesiz =i wmi § A) .3, g
C) du=ie : B) wriefish
D) IsdTe 5 C) Hidiemet Jaw
' : : i D) gumw 9
E) ST ® | IS =& g ; ) Hﬁ i
E) Swlw & 9 913 e
gnt Who founded the ‘F 2
83. ‘sel mm%,mwm 2 N CH b orward Bloc’
A) B) & E B) Gandhiji
C) Motilal Nehry
:
Bleg™ ), 42 | D) Subhas Chandra Bose
E) ST | ¥ I3 A8 E) Nune of the above
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e e sl UL LN e — e e
”": - ATRE I HISA (ICAO) ‘ 90. T Ryeret Y 1 we), 2025
88. b ; <1 HETeE et fomam e |
' e B) vy A)?m*‘ﬁﬁ@maﬁcs?%msé@(cu)
A a8 | B) Wittt S a1 Hing ws o)
OREEL ) 3% 3R (ASSOCHAM) -
E) ST H | SIS T : % C)%ﬁmaﬁcséi%mﬁmﬁaﬁcﬁﬁnﬁ@g
@t The International Civil Aviation Organisation $SE (FICCI) -
E%% (ICAQ) has its Headquarters in - i D) & THIRsH 1% Siressrn We Hiew
A) Montreal B) Brussels % HHI (NASSCOM)
C) Geneva D) Paris § E) 30§ ¥ 9 7
E) None of the above - e Manish Singhal was appointed as the
g %F:E%‘!;E‘%Secretary General of on
. ' ] fop
89. WA HITU™ % Iqede 573 IR HE = {1 January, 2025,
. b { . A) Confederation of Indian Industry (Cl1)
W ¥ 8 g e g %.%.j.m : B) Associated Chambers of Commerce and
TACRNY WA S IR IHF L Industy of It (ASSOCHAM)
A, 39 g2 | 9~ % T o e | C) Federation of Indian Chambers of
; Commerce and Industry (FICCI)
A) 39Sl % D) National Association of Software and
B) 3 s i Service Companies (NASSCOMm)
: E) None of the above
C) Tseufa 3
) T L o1 W SIS ST et T e gy oy -
E) 3wdea o @ 18 & | § A) foraer 1943
According to Article 57 of the Indian Cnﬁstitutinn B) 31T 1942
a person who holds, or who has held, office C) 3T 1943
as shall, subject to the other D) e 1942
provisions of this Constitution, be Q!i_gib|e for E) 3w 8§ 3 918 EE|
re-election to that office.

A) Vice-President

B) Attorney General
C) President

D) Prime Minister
E) None of the above

Quit India Resolution was passed in
A) September 1943

B) August 1942

C) August 1943

D) September 1942
E) None of the above

[OF4] I ke
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92. ST hl TAYUT w71 8 7

iy

SFLR LR P LR P e
uuuuu o
L B L L L L L L L L L A L P S B A A A B A Al A A A ar

v

C) gamm | D)ﬁﬁ FﬁTﬁﬁTﬂmﬂTEQﬁlllqﬁﬁTﬁﬁﬂ?
E) Sude # ¥ 15 78 A) diET
Vi?eé ;e TE capital of Cuba ?
aka B
C) Havana D; Zﬁtgeue i
E) None of the above C) @
- D) e
SIS TEEf iR e et S ER et 7R 3
m%a‘lm%mﬁrw%ﬂmﬁi;mw K iy
EEICR :

E@. =1 Which of the following metals was not
'ﬁ-h known or used by the people of the

Harappan Civilization ?

) . A) Copper
A i_[[E" B) I
E) 3w § § 1S ey | L.
Eﬁ:EWhet happens to the temperature of a D) B
ro
e %}_ﬂ reaction mixture when a chemical reaction e

"absorbs heat energy ? =0
A) The temperature rises
B) Heat energy is produced "

C) The temperature remains fhe same
D) The temperature falls
E) None of the above

E) None of the above

96. 18 91 yart Wiy e (PBD) e 2025
el AT Reem o -

1 A) qgm:f B) %mﬁ
94, Jz?ﬁ;eaweqyﬁﬁ%éﬁ%@a% ? C) rmRRR D) Yervax
A) 16 3T 17 ~ B) 19.3%k 20 E) Sude 3
C) 17 31X 18 D) 1eaﬁt1e ) bk

E) Swdwa § & @1 7

Where was the 1gth Pravasi Bharatiya
Between which two eeneeeutwe :nt

J290 lie ? egers Pivas (PBD) Convention 2025 held ?
does /290 lie ¢ .5 A) New Delh: "
A) 16 and 17 B) 19 anr_:l 20 ) Hyderabag
C) 17 and 18 D) 18:and 19 ©) Ahmedabad

D) BhUbane
E) None of the above shwar
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E) None of the above
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C) 3iaTTaTg

E) ST # ¥ 8

n; E!% What term dEscribes
glin:a country

B) T
D)amw

. the Splitting of a
Into SMmaller, often hosti
A) Annexation

B) Federal;
C) Colonialism o

D) Balkanizati
E) None of the above iy

98. gﬂm‘rﬁa@aaﬁww
ARG fohey iy -
A) Tiiefish

ofvr

Who handed ovér the President_éhip of
Indian Independence League tcr;;.
Subhas Chandra Bose ?
A) Gandhiji |
B) Rash Behari Bose *
C) Nehru
D) Maulana Azad

E)

None of the above

""""""""""""

Why is burning of natura|

an exothermic reaction ?

A) Because it absorbs heat

B) Because it involves g change
Because it produces light

Because heat s produced in this
reaction
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: gas classified as
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% E) None of the above
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o) INn state

D)

E) 39w & & %1 7

Mmeans an institution of
2 Self-government constituted under

wa Article 243Q of the Constitution of India
A) Municipality |
B) Panchayath
C) Metropolitan area
D) District
E) None of the above
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